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Unless he distanced himself thirty Ris — B 2R P70 AR KON

OVERVIEW

The X713 cited a 7awn which states! that one may not set out traps for doves unless
he distanced them thirty o from a settled area. n1voIn discusses the various
measurements used for distance.
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Thirty 0™ is the equivalent of four %2, for a % is seven and a half o> -
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And sometimes the X923 expresses the distance in 109 (30 in our case), and
sometimes in 1% (four) and sometimes in a 71275 (1).

SUMMARY
Thirty o is four > (or one n019). The X3 uses various modes of measuring
distances.

THINKING IT OVER
Is there any reason why the miwn there chose to measure it in 7°0°7 instead of in
1°2°% or a jo19?

Lo oy p'a.

2 A »n is two thousand nR. A 0™ would be 266 (and 2/3) n»R. [See %N 7"7 8,37 1"2 '0In. (According to the X077
of 1M it is RwM»2 266! If we use the number 266 2/3 the &vna in MooIN there is (almost) exact) This number is
also quite close the 717 7w (of 274); see previous n°2 1" '01n TIE Footnote # 1 |

3 Four 2°n is a 1079 or 8,000 Nk (266.6...7 x 30 = 8,000).
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